

$$\mathbb{H}^m_{\triangleleft} = \frac{d\mathcal{A}}{\mathcal{A} \in \mathbb{H}^{m-1}_{\triangleleft}}$$



$$\mathbb{H}^m_{\triangleleft} = \frac{\mathcal{A} \in \mathbb{H}^m_{\triangleleft}}{d\mathcal{A} = 0}$$



$$\mathbb{H}^m_{\triangleleft} = \mathbb{H}^m_{\triangleleft} \sqcup \mathbb{H}^m_{\triangleleft}$$

$$\mathbb{H}^m_{\triangleleft} = \frac{d\mathcal{A}}{\mathcal{A} \in \mathbb{H}^m_{\triangleleft}}$$



$$\mathbb{H}^m_{\triangleleft} = \frac{\mathcal{A} \in \mathbb{H}^m_{\triangleleft}}{d\mathcal{A} = 0}$$



$$\mathbb{H}^m_{\triangleleft} = \mathbb{H}^m_{\triangleleft} \sqcup \mathbb{H}^m_{\triangleleft}$$

$$\mathbb{T}^h \triangleleft \mathbb{N} = \sum_m \mathbb{T}^h \triangleleft \mathbb{N}^m \in \mathbb{N} \mathbb{K}$$